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All questions are compulsory.
Question number 1 to 4 are objective type questions. Marks alioted for

these questions Is (1x28=28).
Answer question numbers 5 to 12 in about 30 words. Each question

carries 2 marks.
Answer question numbers 13 (o 16 In about 75 words. Each question

carrles 3 marks. |
Answer question number 17 In about 120 words. This question carries

4 marks.
Answer question number 18 and 19 in about 150 wonds. Each Question

carries 5 marks.
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8 R g fafd - (rx1=7)

(i)

(i)

(iv)

(vi)

1 A @R B 2

(a) 10"m (o) 10®%m

(€) 10"m (d) 10°m
IUT wuee ¥ wYa wan 2

(@) #fva & (b) &AM

(c) ot (d) 7 AT
& Togm &1 amget

(a) T4 fag v Pk T8 wvm frad ofta amgot o &4 &)
(b) T8 Ry w Prke 3w & fred ot smpd s #Ra &)
() ™ ¥ a3 & & 3l W Fnlv 48 avar &)

(d) I 2 A g 7@

f&d Rvz A geft B g o Priv s 2.

(a) fRvg & garmm

(b) wawm A M w

(c) wagw fig A Rufy ®

(d) w8 Rg A gl weE A Fag W

Preafafaa & waifte warw 2 -

(a) o (b) swm@
(€) (d) e
waer PVY = Praais Ay 8-

(a) Cp-Cy b) G/cC,
(©) Cp.Cv d G+

(vii) ﬁqﬁ@aﬁqmmﬂﬁmﬁﬁﬂﬂﬁfﬂﬂﬁmy

(a) sinot. coswt (b) sinet

(c) sin (wt+8) (@) e
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Choose and write the correct option -
(i) 1Aisequalto-

(@) 10"%m (b) 10%m
() 10"m (d) 10°m

(i) Which of the following is conserved in inelastic collision?
(@) Kinetic Energy (b) Momentum
(c) Both (d) None of these

(i) Moment of a couple of forces -
(a) does not depend on that point around of which we find the
moment.
(b) depends on that point around of which we find the moment.
(c) does not depend on the moment of the forces making
couple.
(d) None of the above
(iv) Escape velocity of a body from the Earth depends on -
(a) Mass of the body
(b) Direction of projection
(c) Position of projection point
(d) Height of projection point from the earth
(v) Which of the following is most elastic?

(a) Copper (b) Steel
(c) Rubber (d) Plastic
(vi) Inthe relation PV = constant, yis -
(a) CD N CV (b) Cp]Cv
(c) Cp .Cv (d) Gp +Cv
(vii) Which of the following function does not shows simple harmonic
motion?
(@) sinot. coswt (b) sinwt
(d} eaimﬁ

(c) sin (wt+6)
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52 W& Reen grav R wm w fafay - (7x1=7)

() B A oo ) A
{MLT 2 MLET? ML"TC*)
(i) ST B R P .. FE &
(mf/mfaa/aa Freet)
(iii) Hivfra |37 = ¥y g3 X )

(aa /m/qvh <L '@r Faqd {?{
(iv) SHEES TS TS G BT S| ATD oo &
(Nm2kg2 / Nm?kg? / Nm2kg?)
(v) gﬁmaﬁvwm$mwm ........................................ .. BT 8|
(0°/90° / 45°)

(vi) & gerd A awen gRads @ R amevas S S
Ed B (FSTETRar / S AT / T FS)
(vil) &t Smad TR F @1, RRRTT @ BT 21
(ST / BTG / TR

Fill in the blanks with correct option -
(i) Dimensional formula of force is...........oovveeveeemeeeeeoeoee
(MLT2/ML2T2/ ML2T3)
(i) Rate of doing work is called............ccocueueeevvveniensver oo
(Energy / Power / Torque)
(ti) Angular Momentum = Linear Momentum X .............cocoooovii L.
(Force / Time / Perpendicular distance from the axis of rotation)
(iv) S.L unit of universal gravitational constant G is...
(Nm2kg2/ Nm"’kgfi Nm 2I-tgf‘}
(v) Angle of contact for the pair of pure water and clean glass
1 SRS (0°/90° / 45°)
(vi) The required heat to change the state of a substance is called..
(heat capacity / thermal conductivity / latent heat)
(vii) Acceleration IS.............. 10 the displacement in simple
harmonic motion,

(proportional / inversely proportional / Squarely proportional)
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(wi—a) -4 TX1=7
(i) IRED (a) E:::'Iz ) ( )
(i) womE - Sl g (b) w@gw
(ili) Sre st (€) Cp-Cv=R
(iv) TaorRN SuuE (d) E=me?

. 1

0 v s o 5
(vi) ¥R HEy 6H @
(vii) smad®e (g) 24w
Match the columns and write the correct pair -

(Column -A) : (Column -B)
(i) Parsec (a) kgm?
(i) Energy — mass equality (b) Poise
(i) Moment of Inertia (c) Co-Cv=R
(iv) Synchronous satellite (d) E=mc?
(v) Coefficient of viscosity O —
(vi) Mayer's relation (f) distance
(vii) Time period (@) 24 hours
@ T ¥ IR Y - (x1=7)
() mfe 3R 7 &7 B =73)

(i) I AR R wEd &
(iii) &7 Pradie &1 7@ ol |

(iv) R Prper &1 g =, Bra & fw Ry fig o Rem g &7
(v) fodh 37 @ wie &ana A fkd Ruftw Fai @1 7 Fe

(vi) o wrTRe B few R A e # smawmdr T8 e 8

(vii) FHT g # cEa 71 g fare |

Write the answer in one sentence each -

(i) What is relative error?

(i) What is zero vector?

(iii) Write the unit of spring congtant.
(iv) On which specific point does the centre of mass of a triangle lie?

(v) Which guantity is equal to the potential energy stored per unit

area of a liquid? _
(vi) In which method of transfer of heat the medium is not required?

(vii) Write a formula of efficiency of Carnot's engine.
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S\ A5F ugfa A W o il B AW d ga araw fafg
Write the name of all fundamental quantities and their S.1. Units.
yyar/OR
g favewo & Suai fafle | (@ &9)
Write the uses of dimensional analysis. (Any three)
wfeel & am waeh Bea My ol
Write the triangle law of addition of vectors.
Juar/OR
T fa & forg snadere 3w amgfy ) aRwm fafkg |
Write the definition of time period and frequency for a circular motion.
St Gt &1 s ey
Write the law of conservation of energy.
Jvar/OR
Fri-at i fafag |
State work-energy theorem.
Q) el & wRw PEed & ¥ a1 o1 fafag |
Write any two properties of cross product of two vectors.
syar/OR
®ofg 91 S gfenfia P g srofia 37 gon &g 97 § Seau fafa )

Define angular velocity and write the relation between angular velocity
and linear velocity.
s Tearety & e g
Write the universal law of gravitation.
serar / OR
AR &) Fwa &7

What is weightlessness?
gs @1 fAam fafeg |

State Hooke's law.

yrepd &1 fram fafae )
State Pascal's law.
afdal § Y &1 T aver aur wfd@ A ™ & Ew ) @

In summers, the water of well remains cold while in winters, it remains
warm. Why?

e/ OR

3yar/OR
dee @) daR qun ga afe A g Tl &) e

The walls and roof of a greenhouse are made of glass. Why?
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9.13

914

.15

What is simple harmonic motion?

: Jyar/OR
TN B TR 1 i ﬁ-lﬁ_i—;
Write the principle of super position of waves.
el e B o W v 30 A2 A B TR F A B 15 R
¥R I 21 AR I qma A 40 N FWR A, A 99 gR AW A A
AT (g = 10 . /2)
A pump on the ground floor of a building fills a tank of water of volume
30 m? in 15 minutes. If the height of the tank is 40 m from the ground,
then calculate the power consumed by the pump. (g = 10 m/s?)

a1/ OR

PE GEfPd WAR 36 TMHR 10 A, R SR HdT 8| 39 GG H WSP
ZRT WRfbe WX Tl AT 9 200 N & o 5 wwa A & Reda 2
SE R ARfd W 52 10 1 B o I
A cyclist stops at the distance of 10 m after applying breaks. The force
applied oppositely by the road on the cycle is 200 N, then calculate the

work done by the road on the cycle.

Bolg W7 AR 7ot et F waw wfi HRC

Establish a relation between angular momentum and torque.
suar/OR

20 b, gEAE 3R 025 M. U & HIF S I 100 Waa/3. o

ﬁﬁumﬁquﬁmm%mﬂﬁwmmwm|

A solid cylinder of mass 20 kg and radius 0.25 m is revoluting with a

angular speed of 100 rad/sec. Calculate rotational kinetic energy of

this cylinder.
wﬁaﬁammmoﬁ.m.waﬁmﬁwmmm

mﬁmwmzﬁ!m%mﬁmmmﬁ?%wﬁ
ﬁﬁmwﬂﬁﬁaﬂﬁﬁ,ﬁmﬁﬁmaﬁmmwm

qSm?

A hydraulic |i
cross-section of the pist
both the pistons are in th
the smaller piston has to bea

ft is used to raise a car of mass 3000 kg. The area of
on on which the car is placed is 425 cm?. |
e same horizontal plain, what pressure would
r?

g1/ OR

e 92 ¥ ofaRe T @ fere 3 wnfdd BT |
Establish a formula for excess pressure inside a arop.
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A displacement equation of a simple harmonic motion is x = a cosat,
then deduce its velocity and acceleration equation.

avar/OR
IPeed 3R IR a9 F SR forfay | (@ ER) _
Write the differences between longitudinal and transverse waves.
(Any four)
HST AEHN e P GRum fafae @ gwe v w3 wenfia A |
Write the definition of co-efficient of thermal conductivity and derive the
formula for it.

seEar/OR
AR WHH Td WE 1R WHH AR e A | (@ 9R)
Write the differences between isothermal and adiabatic process.
(Any four)
vad 1fy 5 Fed & gd wor @ A P 9 R B U wAw B
SSST PTe, W e HaTE Td Ao W B Rie w3 wnfda @i |
What is projectile motion? Deduce the formula for the time of flight,

maximum height and horizontal range of the projectile, projected at an
angle 0 from the surface of the earth.

Juar/OR
geira 7fd B} Fed &7 1P wH T R @ o e &Rvr
AT |

What is circular motion? Find centripetal acceleration for uniform
circular motion.

P Iuug f&d @ed &7 N FeNa urE, ReEw e W@ wept St
& forg W3 wenfia g )
What is an artificial satellite? Deduce formulae for its orbital speed,
time of revolution and total energy.

yuar/OR
gaﬁlmﬁ?ﬁ_‘-ﬂéwmﬁﬁﬂ?ﬁﬂﬂFd’i'“lgtf\»m?[ﬁiqﬁqﬁw?ﬁ
wenfaa Ao

Deduce formula for the change in acceleration due to gravity 'g' at a
depth from the earth’s surtace.
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